
3��[��
/�!�����
����.�
2�����
���9�������
/���,���

3"�������
-!����#���
7�������
��
���9��a /����
�"����


/���	�
�����,��
7#��9�� (Pasif) ���9��
 
/���	�
�0���	����
 

 
 

��#:
*��:
*�:
 : �!9"�
$7E��  
�����$���
���	����	����#�;������	��	�
	��                                                                   

����������	����������!������34320��#�;�����������$�� 
3�8��6$	�8��4�����$��6	��6�� 

 
 
 

Öz 
 


�
	����	� ������ 
���53��� ���<���� ��	� $����
�	� ���<�
� 
�������� ��� �����
�����6� ���<�
� 
��������
�3��;�� 3���5�� 9�
�$��	�� 5��8�������� $��� ���	�� �9	������	� 8	�9	
�	��	�	��� ���������� ������
��5���� �9��� !���� �	� ���	�� 5������ �9��� 5�
��� ��	� �3��9����$��	;	
� �3��9��� �3��$����6� ���
�	�	��	����	��5��8��������!��	�����������8	�	
	���	���
	���$�5�
����
�������������6 
 
���	�� �9	������	�8	�9	
�	�	��
���5��
����������9������ ������
����� 5�
�����
��������	� �����	��

���5��
����������9��������5�������	�
�������8	�9	
�	��	������� $�����3����
�3���5��9�
�����
����	�	�� 5��8����� ���	����� �	� 	�
���� �	� �	���
	����6� ��� �	�	��	� ���	��	��	� ���9� ����	��� �	�
���9������ 8	9��� �������� ���������������
�����6� G����;�
� $��� 5��8����� 	�
��	���	� 
����� ��� ���	��
5������	���8	��-����<=�5��8���
3���������	�	�	�����	�
3�����������������$���	
�	���6� 
 
���� ���	�� �9	������	� 8	�9	
�	�	�� 5��8���� 
������ ��;���� 	�
���� �	� ���	���� ��������� 5��8����
$	��	5�;� ����� �
���� ��5	����	� ()))oC’5�� ����� ��;�
��
����� 0� ��
�
�� �9	������	�
�����$���	
�	���6� A	�9	
�	�	�� 
���� ��	� 5���na$��	;	
� ��
���
��
� 
���� �3��������� �����������
�����������5	�	���	$���	�	����9���8��	����
�9���53����������������������8	�	
�����6����	������<����
53���� ��;�
��
� 	�
���� �������� 
3�������� $	�3�� 5��8��� 	�
���� �������� ��5�<����
��� �	�
��
��	�	���	�$�����3����
�����������$����	
���	����9������
�����6�� 
 
W	���	�
�����
3�����9	����������	�	��	�5��������������������$���5�	�$����������������	���������

3�����8�$����������	�	��	�$����������������	����������������	�
��������	;���	��3�������
�
������� $��� 53�� 8	9
������� 8	�	
�������� ���� ���	������
� 8	�	
������	��� ��

����� ���	��	��
$��8��	�	�������3��������6 
 
Ç������� �9	������	�� ���	�� 5��8���������� ������� 	��;�� 5!��	��� �	�$�� �����$����
����� �����������
8	�	
	��	���8	��5��8���
3���������	������	�	�	;	
���6�('))oO75	�������������
�8	�9	
�	������	��
$��� 5��8��� �	�	5�� 
���������� 5�
�	
� ��
��	�	���� ���	�� $	�3����� �	����� 	�	�� �3������� $���
�	���� �����	�	� 8!��	�	�� ������������ �	� �����$��� ��5��������
� ��������� 	���8	�� 
3��������
	�
�������	������!�9���	���	�8!��	��	����5������;�
��r. 
 
Anahtar sözcükler: ���	���
���53����5��8����5��8���5�
���	���8	��
3����������<�
3����6 
 
  

���



����� 

���
�5	7�	�')(0�5����$���� ���$���5�	 �	��	���	����53�����������(P)���	�� ���	���3�353�����������
��	� 'I� ��	�� ���	�� $������
����� -(=. ������ �	� ��3:	� ����������� 3���� 0(� ��	�� ���	����
	
�	��	��5�	� 5���������� �3����� ���	�� ��5������� /� �	�	� �3���� '%/� 3��;���� $	
�	��	
�	����
-(=6 �	�;�������� ��	� �3�������������� 5�
����
�(&I�
��3���� ���	��	���������������� �	����
	�	�����	��������������	�5�������������������	��	����	�����;�
���6����	��	�������������
���3����
�
�	���#������5�����	���	�3���-Q	N�#������������	���8��	��3���Q#��=�����5�	���������	�
���	�� �9�9	�	���	� �	����� 	���	�������� 9	��
� �9	�	�����
����	�$	�3��
����������	5� $	�3����	�
�	8�	���	�� 
����������
� ����� 	���	�� �	��	� ���	�� -�3�	�� ����	�=� 5!��	��	��� ��	� �����
	����	
�	����	�6 

#����� ���	�� ��5���� �	� ���	��	���� ����	�� �	������ 53������� 8����
� ���<�
� ��;���� $�� ���	��	����
�9	������	� 8	�9	
�	�	;	
� $��� ���<�
� 
������ �3��;�� 3�������� ����	�	�� 5��8�������� 	�
��	������
������������� �	�$��	�
��	�	�
�����!��	�������������8	�	
����	
�	���.  

��� 9������� �9	������	�� 5��8��� 5�
�� 	�
�� �	�	��	������ �������������� ����� #�����7��� 5�������
�	�	5�	���	�$���	�	5�	���3��;��$	����	�	�� ���������	�	��	�����58������
���3�����	�5��8����

����� ��5������ �������� 5!��	��	�� �	� $�� 5!��	��	���� <��
����
����� �	� 	���8	�� 5��8��� 
�������
5!��	��nin 
����������� bir 5��8����	�
� �	�	5i �3��9�������8!�	 �	�����	��������;�
���6 

 

���9��
�"�"
*�������� 

���	�� ������������$�8�����
��
���W3�������C_>��*��3;3�	�WO��F�������WO� �	5��#�����
T�S-ZQA� �������	��� 
���������� $	������	�� 5��8��� 5�
�	�	� �	�	��	��� 
���������
�����6� �� 
���������	�	��	����5�������9	������	�8	�9	
�	������	��9�����������3��;��3���5��9�
������6��� 

���	�� �9	������	� �	5����� 8	�	�� 5��8�������� 	�
�� �	�	��	���� (HI)7�	���� �3������� (HH)7���
5�������� �	� ')))7��� 5�������� 5������� 9���������� ��	� �	����� 	����	5	� 9������������6 (HH)-(HH'�
5������� ��������� 8	�9	
�	������	�� *"C*�#� 2�38����� 9	�9	�	����	� 5������� 9����������
Q3��	97�	� �	�
	������� $��� ���	�� ���	��� 3���� '�%� 
�� �����������
�� C	����<:!��� ���	�i 
�9	������	�')���	��5��8����	�	5��8	�9	
�	������������6 %0�2 
	����	���	�������3����$�����	��	�
L	
�;�-��	5�	�� -����
��<�N�8	�,� M�_=�� 3�3$��� -C	��	$��=� �	� ���$�� -�	��3�	�
��<�N�8	�,�
2�_=� ����� ���9���� 5�
�����
� 3������ ��;�
��
� �	�	��	��� !�9��������6� '-�3�� ������������ ������
�3$��5��5�
�����	5�	����5���������	����	�������������	�5����������������	��5�
�	
�()))oO75	�
������� �	� I0� ��
�
�� ���	�� $��� 5��8��� 3��������� -'=. V	
��� (7�	� 8	�9	
�	������	�� 5��8���
�	�	5�	��� ��	� ��������� ��;�
��
���� �	� V	
��� '7�	� 5��8����� ���	�� 
	����� �9	������	
�� ������������
8!����	
�	���6�����	�	5���	�	��	�	���	��	��!�	�����	���������	���9	������	�8	�9	
�	�	��5��8���
�3��;����;�
������0���
�
���9	������	�	��5�
�	
��	�	���	 �����������6  

'))%7	� 8	���������	�� �	�;��� ���	��	���� 5��8��� 8��	������ �9��� 
���������� 5!��	��	����
5	���	��	��� �9��� $���������� "2�"Q� ��3:	��� 
����������� Q3��	97�	� 5	�� ������ H-�	��	�
8	���������	��P-�	��	�5�
�	
������	��	�(6P))��	��	������������� �	�
	�������$���
�5�� ���	���
3���� C��	������7��� 5��8��� �	�
�
�	��� 8	�9	
�	������������6� A	�9	
�	������	�� �	���	��	�� ()-
�	��	��������������'�P-��8	���������	��	�&�0-��5�
�	
������	�$�����	5�	���/-�3���������	�'-
�3�� ������
� ���	�� ��	� 5�
�	�	�	
� 5�
�������� -%=6� G������ 5��8��� ��	� ��;�
��
 (%0)oO75	�
�����������	�')%��_�8�9��9����9�
������6 

��




   

V	
���( *"C*�#�5��8����	�	5����	�	��	�	���	����;�
��
��	�	��	����	�	�
�����	�	��6�-'= 

  

V	
���2 *"C*�#�5��8����	�	5����	�	��	�	���	����;�
��
������������6�-'= 

*"C*�#� �	� "2�"Q� �	���	�� �?��� 3���
� ��	�	� W3������7��� �	� ���	�� #������ ��������
��
	�	������ 8	�9	
�	��������� 5	�	�� 5��8��� �	�
�
�	��� �3���������� $��� ���	���� 5��8��� �9���
����������� 
���������
� ��	�	� V	
��� 37�	� �������� 5��8��� 5�
�� 	����	��� �	����� 	��������� -4=. 
������� '� �	� &� ��������� 	����	�� ��	� $	������	�� 5��8��� 5�
�� 	����	���� T�S-ZQA� 
����������
������5���� �	���53��� �	� !�	�� 
���53��� ���	��	��� ��	� 
���53��� ���	��	��nin 5��8��� 5�
��
����������� 
���������
��������6 �	���53��� �	� !�	�� 
���53��� ���	��	��� �9��� 5��8��� 5�
�����
����� ����� ������������� �	�	���� !�	���
�	� �	���53��� ���	�� 5��8����������� 5��8��� ��������	�
	��������� 
���53��� ���	��� �9	������	� 8	�9	
�	�	;	
� $��� 5��8���� 	������	�� ����� �����
���	$��	;	
� 3������������� -'=6 T�S-ZQA� 	����	���� �	���3�� �	� ������
� �������� 
���� 5�
�	���
�	�����	��	
�	���6�( ���������	�$	������	��C_>�	�������W3�������#��5�����	�L	��	���
���������
$����� �	� �	�� ������ ���5���� �	�������� �������� �	� ���������� �3������ $��� 
������� 3����
C�:
N��	������� ����<������ 
���������
��� 3���� 5��8��� 	��������6 ��� 	���� (HIH� �	�	����	�
W3������7��� 8	�9	
�	������	�� 9��������� ile 	��	� 	���	� $��� ����3
��$3�� 5��8��� 	������ 3�����
0)�3 5�
��� ���
	������ (')� ��
�
�� $35��;�� 5����� ��������� �	����� 	��	
�	��� -0=. C_>�
	������� C��	������� �	�
�
�	��� ��	� �	� �	5��� 	���������6 0� ������� ��	� $	������	� HC 	����� 
*��3;3�	�����<������
��������������3
��$3��5��8���	�������%����������	�$	������	��WO��	����� 
��	�F����������<����� 
���������
���olan �	����������������3
��$3� 5��8���	��������6 

���



 

V	
���3 ����r��
�	�3��� 5��8���5�
�	�	��	�	��	��6�-0= 

���� ���	�� ������������ �58�����;�
� 5��8��� 	������� ����� 	���	;	
� 3���� ���	�� �9	������	��
8	9�	���	�������	���	;	
����9����������	���	��	�������
�����5�
�����	���	�8!�	��	9���	�����6 

 

���9��
�"�"
7���
�
�����#�
2�����
Hasar 

���������	�	5�	��� $��� ���	�� �9	������	��	5����� 8	�	�� 5��8��� �3��;�� �9���� 9�
��� ���� 	�	�:����
�	�	��5�	� ��;�
������ ��
�
���� (0)oC – 200oC �	�	����	 ���������� 8!��	�������6� �	�3����	 
���	�� �9	������	�8	�9	
�	�	��$���5��8����3������$	�3����8!���	��	��!�	���������� ��8����;	7�	�
D�������8E� 3����
� �<��	� 	���	�� �	� ���
9	7�	� D
�$�
�����E� 3����
� �<��	� 	���	$��	;	
� 3����
��������6� ��$�
������� ���	�� 8�$�� 
������ 3����������� 5�
�	
� 3��������� ������ ��;�
��
�
�	�	��	���	���
�
����� �9	������	�������
���� $	�3��5��	5����$��5	����	
��$3���
�3��������	�
�	�� 3������� $����� 3����
� 
��������� ������	� ���������� $��� �	
���	� �!
���	�����6�
��$�
��������� �	�	���� 5��8���� ������ 
����� $	�3�� 5��	5��	� 5�
��� 
������ �9	������	 ����� 
3�������	�$	�3�����3�������9	
�	���
��	�	�����������9�	��8	����	�	����6��9�	��8	����	�	����
3��������$	�3��$3���
����� �9	������	�$���������� ��5���$����;��� $	�3������	�������3���������
�����������<��
��� �����8	��	��	�
����5�������	�$	�3���9	������	 
�����������8�	8�����
!
	����	�
8�����53��� ��	� ��8����ir. �	�3���� ��
��	�	��� �����
9�� ������� $3���
� 3����� �	�	��5�	� $	�3��
$��5	��� �9	������	
�� �	�$	��� �	��� 5��8��� 	��������� (� ��
�
����� ��� $��� ���	� �9	������	�
())oO75	� ������ ��;�
��
� ��	� $���������5�� �	� $	�3�� �9	������	
�� �������� $3���
��� �9	������	�
5�
�	
� $����9� �	�	��	��� 3��������5�� $�����6� �	�3�� ��
��	�	��� �����
9�� 8	�	���
�	� �������
$3���
� 3����� �	�	��5�	� 
�$�
������ 5�
�	
� ��
��	�	���� $	�3������� �3����� ��
��	�	����
$	�3������8!�	����������	�����	��!
���	��	��������������	��� $����	
���	�8	�9	
�	�	$���	
�	����
-P�I=6 ���	�� ����<����� !�	���
�	� 5�
�	
� �	�<3�������� $	�3�� 
����������� �9	������	� $��$�����	��
<��
��� ����� 8	��	��	� 
����5�������� ������ �	� $	�3���� ��������� 3����
� 
���������� 9��	��35�� 	
�
3����
��9�;��
�� �	�����
���������8�$�����������5	������
�����6�F��
��������8	��	��	�
����5����
�	�	��	���� 5��8���� ������ 
����� 5���� $��5	����	� <��
��� 8	��	��	�	�� �3��;�� $����� $35������
�	������	� 3���������
 �9�	��8	����	�	���������$����6 Q3������	�5�
�	
���
��	�	����$	�3�������	�
5������� 5��8��� �	�	5�	����	� 
�$�
��������� '))oO7�	�� 0))oO75	� 
����� 8	���� $��� �����
���

���



8	�9	
�	�	$������� 8!���������� -/�H=6� ��$�
�����5��� 3������ $�� 
	���� 
�5$���� 	
� 3����
�
��;�
��
� '))oO75	� 5�
����������� $����5�;�� ������� �9	������	� 5	�� ����� $��������� ���
$���������5���	�%))oO7�	��$����5���
� 5��8����������5��	5�	���8�	8���	��8�	8�-$����5�;��
5���������
��5������!������	��	���3��5����
��	�	��
�5�������$�������	�
3��������$	�3����
$�������$���$	�3��
	�������9	�����	��3��� ilerler.  

�	5����� 8	�	�� ��
� 
�$�
������ �3��;������ $	�3�� 
	������ �����5���� 
�5$	����	��� ��	� 9	��
�
�3����������������5��8����������
����
��������6 300oO7��	�9	�������5������	�	��	���5�
����
�
3����
� J')� ������
	�� P))oO� 9	������ ��5����� �	�	��	���� 3��� ��;�
�������
�� �	�	��	������
J%)7����8	���	�	
�	���6 

 

���9��
7���
���
/����
7#��9��
=Pasif) /���	�
�0���	���� 

���8���� ������ 
������� ����	�	�� ���	�� $	�3������� $���	���	�� �����$�������� 3�������������
	�8	��	�	$���	����9������	��$	�3������������	�	������<������$�����	�<3���������������8	�������6�
A	�����	��$������������	�$	�3����
�$�
�����������	�8	��	��	����	��3�������������;������;�
��
�
�	��5	������ ������������������ ���	���6 T�S-ZQA� �������	���	� 8!�	� �3����� ��;�
��������
300oO75	� ����������� 8	�	
�	
�	���6� ���
�5	7�	� �3�� 5�������� ����	�	� �9����� ���	��	��	� $��
�	�	�� '0)oO7���6 W3������� ����������� 8!�	�� �3����� $	�3�� 5��	5����� %/)oO75	�� �3�������� ��	�
'0)oO75	� ����������� 8	�	
�	
�	���6� ��
�	
� ��
��	�	���� $	�3�� 5��	5����� ��	� '0)oO75	�
�����������8	�	
�	
�	���6  

���	��$	�3����������������� ���	�	��$����������� 	�
���$��������5� �	���������	�	���8	�� -����<= 

3����� ���� �	���	��� 5��8����� 3��������� �	� 8	��������� 	�8	��	�	5	�� ��;�
� 5��8����� �������
	��;�� 	�
��	���	� 
����� ��� ���	�	�� ��������� ���	��� 3����
� �����5��� 5!��	��	��	�� 5�����������6 
*���8	� 
3���������	��$	�3�����	���	�$	������$���
������
��������8	9��8	����������
�
3��5�;��$���

������3����
��������$��	;	���8�$������	��$	�3���$��5	����	��	��������$����6 

�3��5�;��
�����������8	�	��3����
� �
�� ����� 5�58�����6����������� ��
���$����5�;���� �9	������	�
����� !�;	� 5�
�	
� ��;�
��
����� ������ 
������ �3�
���
� 
��� �	� �8�	8�� �9	�	�� ����	�	�	������
���	��� ��	���;�
�����������
��������� 
��������
�8	���	�$3���
�$���
����	�bu ��5	�	 5��8���
��5�������� ������;�� 5!��	� 5������� $��� �3��9� �3����� ��
�� �	5�� �	���
����� �9	�	��
����	�	�	����6 

>	8�	��� $	�3������ 
3��5�;�� $��� 
�������� 
������������ 	
� 3����
� $	�3���� 
�$�
�����5��

����� ���	�9� �����5��� $��� ���	�� �58������ ��	� $	�3�� �9	������	� �3����3���	�� ��<� 
�����������6�
���8���	�
���� �������� ������ ��;�
��
� ��	� ��<�	��
��������
 ��8��� 	���
�	��� ��;��� �9	������	������
$3���
����� 3��������
��������6� G������ $�� $3���
����� $���������� �	���� 5��������� $����;���
������$��	;	��� 3������ �����5���
 $	�3���� 
�$�
���������� �	�	�� 3���� �9�	�� 8	��������
3���������	�8	��	�	
�	���6 

���������� 5!��	��	��� 5��8��� �3��������� 	���� 5���5�� ������ �	��	�	�� 
�������
�
5	���	�	$���	�	����9���������	�;���	�����
	����58����������5	��	����5�������5��	5��
����5���
�
����	�	�� 5������� ����������� 8!��	��	����� 	�8	��	�	�	��� �	� ���	�� 
	������� ������������
$�
���������� �	�;��� 	����	�	
�	����	�6� M�<� 
��
���� 5!��	��	�� ��	� $	�3�� $��5	��� �9	������	�

�$�
�����5�� 
����� !��	�� 3�������������� 	
� �58������ ����5	��	��� 8	����	�	�	��� �	� ���	��

	���������������������5!����	���	�;���	�����
	���5��8����3�������� 5	���	��	�	���
3��������
$�8����9���5	�	�����
����
������9����	�;���	����	5	$���	
�	����	�6 

 

���



�"�
��
+�����	����
3"���
��9	���
$��������
���9��
3������ 

�	��	�5!��	�����	��9��������	��	���3����������	8�	���	����$	�3������<�����5�
�	
���
��	�	����
3��$���	
�	���6� O0)� ����<�� �?��� 3���
� ��	�	� $�� ����<� 
����� $	�3����� �3����� ��
��	�	����
$	�3�����3����
�������
	���O0)�����<����	����	
��$	�3�����5�
�	
���
��	�	����$	�3�����3����
�
������
���������-()=6 A�������	����5����
3�����������$�����$��	��
��
������	�	�	�����	�	�
	��
5��� ��5������ 5�
�	
� 3���� 5�
�	
� ��
��	�	���� $	�3����� ��	� �������� �	� ��	���� 5����
�
���
�����6� ���	�� �	8�	���	��� 8�$�� �	��� ��	����� 8	�	
����� $	�3����	� !���	����	� 	�
	��
��5�������	8�	�����
����������������	���3
����	9�	����	�!�	����$����	�	�������	�8	��	
�	���6�
��� �	�	��	� �	8�	���	��	� '/-8����
� ��5����� O0)� ����<�� ��	����	� ����<����� ������ $	�3��

��������� ���
�����6� #�;�
� 5��8��� ��5������ �9�������� 5�
�	
� ��
��	�	���� $	�3�������
���������� ��	��3�������
��	�	���� $	�3����������������� ��������� <��
����3������$	������������6�
��� $��������� !�8!���	�� bir 	���8	� 5��8��� 
3����� ����	�	������ �	�<3�������� 
3��5�;����
$	�3�������	�������	�5�
��������8������6� 

#������ ����� ���5��������� �	� �	�3�� >���	��	��� F	�	���53��� -*FQ#CO=�� ����������� $���
$	�3����	� 5�������� 
��������� !�8!���	�� $��� 	���8	� 5��8��� 
3����� 
��������� ��	� 5��8����

����� ��5��������� �	�	��	�������	��� �9��� 
�9�
� !�9	
��� �	� $�5�
� !�9	
��� �	�
�
�	��
!�	��	
�	����-((=6���9�
�!�9	
���5��8��������	����&)-;��R�&)-;��R�')-;��!�9��	����	�3�����
�	����� 	������ �	8�	����� 5��8��� 8!�	�� 5��	5��	� 5�
��� $!�8	����� �	����� 	��	
�	���6� ���������
	���������5� �	�	����	��3�����$35����	�
3����������	���	���	�������	����������5��8���
3�����
����	�	�����	�
��������
����������	����3���������5��8���5�
�����������	�
�
�	����	
�	���6 

���� ���	�� 9��������� 
���������� 5����� ����<������ ����������� OI)� ����<�� �	8�	��� $	�3�������
�	�	��	������	����
��$��	�	��� 	���8	� 5��8���
3���������	�	�����	�	�
��	��������������������
�9�� V	
��� &7�	� ���������� 8�$�� ����������� &-��	�� �����	�� �3��������� V	
��� 07�	� ����������
8�$�� ��8���� 
������� ����	�	��� ��	� 
�����������6� Q����	�	��� 5��	� V	
��� 07�	� ���������� 8�$���
b	�3�-
������� ���5��	5���	�� �	� �3�������� ��;�
��
� !�9���� 5�����$���	��� �9��� �	��39�<��	��
-��	��3;3���	=� ��	��3��������������6 V	
���&7�	����������������$	�3�����9	�����	��	��39�<��erin 
5	��	������	$���	���	� 5!�	��
� 5	�� �9��������� �����5��� 0-��	�� ���	5� 9�$�
� 8!����	
�	���6�
>�����5���%0-����%)-����'0-����	�')-���
������
�����
��$��	�	����	���8	� 5��8���
3�����
����	�	�����	�
�������������	�	����	
�$���$	�3��9	�9	�	��9	�����	�5	��	������	�	
��V	
���P7���
���������� 8�$��� 5�
�	
� 8�9�	��	�('))oO� ��;�
��
��	�	����	��P)���
�
���
�T�S-ZQA� 5��8���
5�
����3���������<�������	���	�5	��	������������6 

    

V	
���4 ��9�
�!�9	
���5��8����	�	5�������	�������������������-('=6� 

���



   

V	
���0 Q����	����5��8���
�����������	�	�����	�
��������� �	��	��39�<��	� -��	��3;3���	= 
��	��3��������� -('=. 

 

 

V	
���P Q����	 9	�9	�	����� <�������	���	�5	��	�������	�� -('=. 

���8��� 5�
��	� ������ 
�������� !�;	� 5��	5� !�	���
�	��� V	
��� I7�	� �ol ����<��� ��������
�����	�	����� 5��8��� �3������ 5��	5� 
3�������� V	
��� I7�	 ��� ����<�� �������
�����6� ')� ���

������� 
��������� �������� �	�
�
� 	���	�� �����	nin $	�3��� 
�$�
������
�� 
������� 3
� ��	�
8!��	��������8�$���3��������9����9�
������6  

���



   

V	
���I ���8���!�;	����	��3�����������	�5��	5�	�� -('=. 

V	
��� /7�	�� %0-��� �	� %)-��� 
������
��� 	���8	� 5��8��� 
������� ����	�	�	��� ��������
�����	�	��	�����������;�
��
�!�9���	��������������6�'0-���
������
�������	�	���	�
��������
�����	�	�� �����
��� !�9��� ����
� �	� 5���
� 
�� ���
��� 3���������� �	� ')-��� 
������
���
����	�	���	�
�������������	 ��	 
�$�
���������6 

 

 

V	
���/ ���8����	�	5��	���������%0-����	�%)-���
������
�� 
�����������	�	�����������
�	8�	����	��3�����5��	5���	���;�
��
��	������	�� -('=. 

V	
���/7�	��%)-���
������
���
���������	�
����������	�������5��	5 ��;�
��
��	�����������%0-
��� 
������
��� 
������� �������
�� 8�$�� ���	���� �	� 
������� 3�������� 8!����	
�	���6� �3�����
��;�
��
����� ��	@ 0-;�� 3���� �����5����� ��� !�	���� 5������� 
��
���5���� ())oC’nin ��������

����
�����6 

���



����� 

����53��� ������� �9	������	� ��5������ �	� ������
����� ������ �	� 53���� $��� �	
���	� 
����������
���	��	��������5��8����
�����
3��������!�	������	��	
�	���6��3��������$��� ���	�� �9	������	�
8	�9	
�	�	;	
� 5��8����� ���	�� �9	������	 5�����;���� �����$��� 5!�	��
 $��93
� 5�������� !��	
�
������6 *���8	� 5��8���
3�����
������� ���	��
	������	��$�����
������������8���	��	
�	 $����
�	�
$��� 5��8��� �3�������� 5	���	�	$���	
�	���6� ��� 9��������� �������� �	� 5�
�	
� ��
��	�	����
OI)� ����<�� $	�3���� !�	�� 
���53��� ���	��	��� �9��� !�	���	�� T�S-ZQA� 5��8��� 5�
�� �	�
�
�
�3��9������� 8!�	� ��
�� ��������� 	���8	� 5��8��� 
3����� 
�������������� 	�� ����
� �58������

������
� �	�	������ %0 ��� 3������ !�	����	
�	���6� �	�3����	� �����5����� �3����� ��;�
������� 
���������������	����	
��	�
����!�	��������	�
���������0-;�’nin �����������	�	�����6� 

 

3�����"� 

������� $�� 9���������� 8	�9	
�	�������	����	� 
	������	� �	��	
� �����5��� ����� �	�
	���
2�	<�$��
��53��#V75	��	�>Z�#75���	�	

���	�	�6 

 

/�,������ 

ñ(ò ����53������ A	�	�� ����������� >����� ��������� ����	� ���
�������� ���	��	�� V�$	���
��������������	��	��V�$	���>�����

ñ'ò �������5�6 2�3�	;��3��3<��3�������	�������8�����;��	��3<�<��	��F	�	����W�8�N�5�C	�	��;��
Z�������	�3<�A	����5��

��G;�
�')(%6 

�3��8�C	�	��;�	���>	�����

ñ%ò ����,++NNN6�	8�	�	�6�3+�����;��	��+P(//H����	�_3���7����88	���F��	��	��� �����C3���
����	�6 

��'I-%)���5���'))I6� 

ñ&ò ��	��	�	���3����_3����
6 *<	;����Q	�	������C	�3����F��	��	����8�2�3;	���	�<3������	��
M����8���'))/-*<	;���-C)PH0 

ñ0ò *FQ#CO�� >�	;�<�;���3��� ���� A���	���	�� <3�� �	����8� 3<� 2�����	� F��	� 2�3�	;��3�� <3��
O3�;�	�	�����	��M����8��������'))P6 

ñPò ������� T26� #���5���� 3<� �3�	� ��	����	�� ��	����� ���	��� ���� <��;���	� ��� ������5� �	��	��
;3�;�	�	6� 2�3;		���8�� 3<� ��	� ���	�����3���� N3�
��3�� 3�� <��	� �	�<3����;	� 3<� ��8��
���	�8���;3�;�	�	

ñIò T��3��`@�T�	�8��``@�2	�8��AF@���	�8	����6�#��	�3-�	�	�����	���8���3�����3���	�	R��3���	�
�������8� �	;������� 3<� ��8�-�	�<3����;	� ;3�;�	�	� ���	�� <��	� 	R�3���	6�

6�A����	��$��8����6��6�(00–P&6�(HHI6 

O	�	��� ����
O3�;�	�	�C	�	��;�

ñ/ò C������#@��>�������"�@�����8	������@�#�3����26�*<<	;��3<��3���3����	������������8�3<�
�	��<3�;	�� ;3�;�	�	� ;3�������8� ����3��� ���	���� ����R���	�6�

 P0�P&–I06�')(&. 

%��� Z��	�����3���� CZM*��
_3�
��3��3��O3�;�	�	�>������8���	��3�F��	�*R�3���	6�CZM*��2�$��;���3��6���6�0H–PP6�
2������F���;	6�')(%6 

��	



ñHò �	$�;
��� A@� � W���;�	�� C@� �	��3��	�� F6� #�� 	R�	���	����� �	��3�� <3�� ���	����8� ��	�
�������8� �	��������5� 3<� ;3�;�	�	� ��R���	� ��$����	�� �3� ��8�� �	��	�����	6� O	�	��� ]�
O3�;�	�	�O3��3���	�

ñ()ò <�$� ����	���&',� O3���������	� �3�	����8� 3< ��8�� ���	�8��+��8�� �	�<3����;	� ;3�;�	�	��
>���	-3<-���� �	�3�����	���	��$5����
�A�3���/6'6� Z��	�����3����F	�	����3��<3��>���;������
O3�;�	�	6�`�����5�'))/6 

 %&��H0/–HP%6�')('6 

ñ((ò *FQ#CO�� >�	;�<�;���3�� ���� A���	���	�� <3�� �	����8� 3<� 2�����	� F��	� 2�3�	;��3�� <3��
O3�;�	�	�����	���M����8�6����;��'))P 

ñ('ò �	�8���� Q6U@� ��
�	
� ��
��	�	���� �	�3����	� >	8�	��� ��������� U�	� C��3��� – 
���8������	������!��������2��������')('6 

 

 

���




